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[ 374
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0. = ANNLALAY NMUaeLily TaAUARRITINAT (N/mM?) UTaLNNZUIAUABRANTILNAT
(MN/m?)
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1. A9IAUQO

1998100 1 yiaWranNINaNAIUIALEUHIUAUINANE 25 mm gNALALILE
1,000 N A4ANUIMMIANNLALA

1
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D=25mm =0.025 m A =
F=1000N 4
~3.14 x 0.025°
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= 4.906 x 10 m°
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()- = -4 2
: 4.906 X 10" m
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5,000 N
g =

- 5% 107 m*

10,000,000 N/m? 138 10 MN/m?
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1
=

St AU (A) W lefanges

langnvuals A - D’
D = 20mm = 0.02m 4
F = 4,000 N 314 x0.02°
4
= 3.14 X 10 m?
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4000 N
3.14 X 10 m”

T =

12,738 853.5 N/m? 38 12.73 MN/m?

v

AIUU ANNLALLAAUWNAL 12.73 LWNZUIAUABRRANTILNAT
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o —F .,z x 4 y
— Farin Al (A) W lefangas

L- T a2

4
6 o Y4 2
lansinrua _ 3.14 x 0.02
D = 20mm = 002m 4
F = 4,000 N = 3.14 X 107" m’
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=~ p = Y,
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= 0.002

AU ANLATEARAILYINNL 0.002

langninua i
5m = 5000m <

10 mm




4. A9IMIASIAQ0
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9. AN VIRUUANNIINANENT 2 m agnalalsaanaurinlig

lFIS'SI()iTO (799?1'?0[_): JO AN8198AA9R T NANNENILAN 2 MM A9ATUATUNN
ANHNIAT AR A

langn1uali
= 2m= 2,000 mm
5 = 2 mm

—

=~ e = Y,
PUIANHLATY AR ATNANNITN @ azla
8 2 mm

© 2,000 mm
= 0.001

A1 ANNHNLATEARILYINNY 0.001
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= = A v
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AIUU ANNHLATYALRAULNINL 0.005
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doag1on 13 widlaveunaniaagniglannieTanAlRew 0.0038 nluaaa
equasulannian 2.5 mm [MIANNENILANT DTN AU

langnuali

E = 00038
0

= 2.5 mm

AVIAINNYIILANINNFNNNTN Q Azl
2.5 mm

0.0038
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